FR2TEE BARMI)—2 U - IUREXFT (REEKRLSE) OHFEEDORRICET H1EH

1 BOITE—REZVOEERVHKE

TH-EE | BXEEY | HiIE8E
(t) () ()

4K 89.55 0 89.55

5H 85.25 0 85.25

6H 103.8 0 103.8

78 111.22 0 111.22

8H 68.38 0 68.38

9AR 81.96 0 81.96

10H 60.64 0 60.64

118 45.08 0 4508

128 41.86 0 41.86

18 14.65 0 14.65

2H 22.34 0 22.34

3A 59.09 0 59.09

=5 783.82 0 783.82

2 MEEXD mtE

48 5H 6H 7R 8A 9R 108 118 128 1A 2R 3A
o g HigE 20 22 19 17 21 18 16 20 18 22 19 18
RIRDEER O O O O O O O O O O O O
BESOBETIETH mEEHEL-EAH - - - - - - - - - - - -
WNEOLNT-HEDEE BEDAR - - - - - - - - - - - -
BFRE EhEE% 63 62 85 89 103 50 67 69 93 25 16 44
REBEEYLUNOHEREREANBOONI-EAB - - - - - - - - - - - -
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3 KERE
(1) REK

HFEHREmL-A B 4H20H 5H22H 6H19H 7H178 8H21H 9H18H 10A16H 11A20H 12A18H 1A22H 2A19H 3A18H
FTEIEAE By R BREZR RERR BREZR BRERE BREZR BRERE BRERR BRERE RERR BERZR RERR BRERZR
KFAFVEE (ph) = 5.8~8.6 - 7.6 - - - - - 7.4 - - - -
FHEMEE (SS) mg/ 60LLTF - 17 - - - - - 1R - - - -
bR FRERkKE (COD) mg/Q 90LLF - 15 - - = = - 12 - _ _ _
EMEFHERERE (BOD) mg/2 20T 4.1 9.9 4.7 1.3 47 4.6 5.7 1.8 0.7 1.9 1.0 1.7
\ieA4> (C¢e-) mg/2 - = 6 = = - - - 3 _ _ _ _
* KB B 18/cni 800LL T - 30K ik - - - - - 305k - - - _
® E XK mg/2 120L4F - 3.1 - - - - - 0.6 - = _ _
2 YU A mg/2 16LLTF - 0.48 - - - - - 0.13 - - - _
7 ILFEILIKER mg/Q BRHEIhAGEWNIE - - = = 0.00055& % = - _ - - _ _
s K ER mg/Q 0.0005LLF - - - - 0.00053k % - - - - _ _ _
ARSI L mg/Q 0.003LLF = = = = 0.0003K & = - = = _ - _
Eia] mg/2 0.01LLTF - - - - 0.0013k - - - - _ _ _
8L (V) mg/Q 0.05L4F - - - = 0.0055K ji% - - - - - - _
i mg/2 0.01LATF - - - - 0.0013k % - - - - - _ _
eITY mg/2 BRHShENIE - - - - 0.01K i - - - - - _ _
RUE{ETT=)L (PCB) mg/2 BN E - - - - 0.00055& & - - - - _ _ _
f)yooIFLY mg/Q 0.01LLF - - - = 0.001 K i - - - - - - _
T3 FLY mg/Q 0.01LUF - - - - 0.00055K 5% - - - - - - _
cHooairay mg/2 0.02ULF - - - - 0.002K iy - - - - - _ _
mig{bix mg/Q 0.002LLF - - - - 0.00025k % - - — — _ _ _
1,2->/0aI4y mg/2 0.004LLTF - - - - 0.00045 it - - - - - _ _
L1->yno0xTFLy mg/2 0.1LLF - - - - 0.002K i - - - - - - _
12—y FLy mg/2 0.04LLTF - - - - 0.004 5K jif; - - - - - _ _
111-M)oonxT4ay mg/92 1R - - - - 0.00053k i - - - - - — _
1,1,2-k)onpxTaYy mg/2 0.006 LA F - - - - 0.0006K %% - - — - - — _
1.3->ynn7axky mg/ 0.002LLTF - - - - 0.000235k i& - - - - - — _
FI5L mg/2 0.006 LA F - - - - 0.0006K %% - - — - - — _
E S22 mg/Q 0.003LLF - - - - 0.00035k % - - - - - _ _
FARCAILT mg/Q 0.02LLF - - - = 0.002K i - - - - - - _
oty mg/2 0.01LLF - - - - 0.001K i - - - - - - _
L mg/Q 0.01LLF - - - = 0.002K i - - - - - - _
14-OF %4> mg/Q 0.05L4F - - - - 0.0055K i - - - - - - _
#BIiEEZLE/Y— mg/2 0.002LLF - - - - 0.0002K % - - — - - — _
%gg%%ii&u mg/2 105LF : - - - 015K - - - - - - -
Ao % mg/2 8L - - - - 0.085K i - - - - - _ _
F 5 % mg/2 10LLF - - - - 0.01K& - - - - - _ _




